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232 +6x+7 =1

4312 +1" x + 25! 0!
531121 Ix+! 1 0
6311 11111 5
738y =3l

Quadratics
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231P 11 4 1m 1 ol

433111 10x! 7 =11
53112 _—-17x — 15! 0!
6™ Il It

73 (15x — 4) = 4!
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23x%1 6! —1 =11
A1 1" 49 =1
533x' 1 9l 411 11
63 1x! 2) =2l
73R2x%—1x! 5=11



Quadratics - Answers
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23 (11 3)! =1 =131 =341 23 (x+1)C +1) 0>k =111x1 —4 23 x! 1174, 11 11174

43 (1 +5) =01 = 471 43 (Ix! D)@ ) =ox iy 43 x| Il lrepeated!"#3$ )!

53 2011 1) —31 0511 —21 3 53 (1 Dk e - 53 1 —Hx b 1t

63 (|"x|3)2||>!||"_| 63 x=!1I", x=10.73!

63 1 (1 +!1) —2=0>! - £
' ' 73 1" IHSITHS |

| — FIYL IS =15 1 =12
7310 +1) 4111 73 B —2)(Gx! DI =1L =12



